BIO PROPOSAL FORM (FORMAT B)

Type of refer bath one tall
complete uses of a batter

Bid (ROST-LOG)

Title: Lawn Equipment, Power

PLEASE COMPETE ALL SHADED AREAS NAME OF BIDDER: Prepared By: The School Board of Miamil-Dade County, Florida Bid #051-JJ06 Lawn Equipment, Power

-	Buyer: G. Jackson	4		Prepared 8	By:			Verified By:	$\rightarrow$	-											
-					A-Quality Mo	wers, inc.		ACE LAWNMOWE	R SERVICE	Y AL'S	LAWNMOWER SAL	ES & SERVICE	γ	ALEC'S CAMP	CO GENTLO					Mar. 1987	
17	EM DESCRIPTION OF ITEM	ESTIMATE QUANTITY	ם, טאוד	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	ALL DADE LAWNIN	Manuf & Mode		Total Price	Manuf & Model
	VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE YEAR																				
	Edger, Power, walk-behind, minimum engine power: 3.5 HP, steel base, approximately 10" X 2" X 1/2" blade or 9" triple blade (3 lips), ball bearing wheels, controls on the handle (adjustment of depth), blade guard. Approved brands: Power Trim 200, Husqvarna LE 389 or equal.	25	Each	\$455,95	\$11,398.75	HUSQVARNA LE475	\$415.90	\$10,397.50	HUSQVARNA LE475	\$524.00	\$13,100.00	POWER TRIA	A	NO BID		\$407.00	\$10,175.00	Power Trim	\$403.96	\$10,099.00	Husquarna L475
1	Hedge Trimmer, approximately 30* single-sided cutting blade, gas engine, minimum engine power; 1.1 HP, minimum displacement: 22.5 cc, electronic ignition, centrifugal clutch. Approved brands: Shindaiwa HT231-30, Husqvarna 226HS75S or equal.	25	Each	\$339.70	\$8,492.50	SHINDAIWA HT231-30	\$335.00	\$8,375.00	SHINDAIWA HT231-30		NO BID		\$321.00	\$8,025.00	REDMAX HTZ- 2400 2 YR WARRANTY	\$331.09	\$8,277.25	Shindawa HT231-30	\$335.00	\$8,375.00	Husquarna 226HS75S
3	Blower, Leaf, hand-held, gasoline engine, electronic ignition, minimum engine displacement: 25.4 cc, minimum ari speed: 145 miles per hour, minimum average air volume: 340 cfm. Approved brands: Echo PB251 or equal.	50	Each	\$135.99	\$6,799.50	ECHO PB251	\$137.50	\$6,875.00	ECHO PB251	\$149.59	\$7,479.50	ECHO PB251	\$119.00	\$5,950.00	*REDMAX HB250	\$135.96	\$6,798.00	Echo PB251	\$118.46	\$5,923.00	*Stihl BG55
4	Trimmer, monofilament, loop handle, gasoline engine, minimum engine displacement: 25.4 cc, maximum overall length: 75°, minimum fuel capacity: 13.5 cz., maximum weight: 12.5 lbs., straight shaft. Approved brands: Stihl FS80R, or equal.	50	Each	\$328.63	\$16,431.50	SHINDAIWA T272SFH	\$299.00	\$14,950.00	STIHL FS80R		NO BID		\$209.25	\$10,462.50	CUB CADET COMMERCIAL #ST26 2 YR WARRANTY	\$239.99	\$11,999.50	Echo SRM265	\$252.76	\$12,638.00	Stihl FS80R
5	Mower, riding, cutting width: 30", minimum engine power: 12.5 HP, electric starting, overhead valve, transmission: 5 forward -1 reverse speeds, all steel mower deck, minimum of five (5) cutting height positions, cutting heights approximately 1 1/2" to 4", pneumatic tires front and rear, 12 volt battery, equipped with mulching kit. Approved brands: Snapper 3012523BVE equipped with Ninja® Mulching Kit or equal.	50	Each	\$1,524.99	\$76,249.50	SNAPPER 3012523BVE WITH NINJA MULCHING KIT	\$1,389.00	\$69,450.00	SNAPPER 3012523BVE		NO BID		\$1,096.00	\$54,800.00	*TROYBUILT LTPONY	\$1,302.00	\$65,100.00	SNAPPER 3012523BV E		NO BID	
6	Mower, power, non-self propelled, minimum 5 HP engine, push drive, oversized rear wheels approximately 16" with balf-bearings, front wheels approximately 8" diameter with ball bearings, cutting swath 21" minimum, mulching kit included. Approved brands: Sarlo L621-2 with mulching kit #1387 (not mounted) or equal.	10	Each	\$516.50	\$5,165.00	SARLO 621-2	\$455,00	\$4,550.00	SARLO L621-2	\$630.00	\$6,300.00	SARLO 621-2 WITH MULCH KIT		NO BID	ja.	\$420.00	\$4,200.00	SARLO L621-2		NO BID	
7	Blower, back pack, minimum displacement 44 cc, minimum air volume: 380 cfm, minimum air velocity 172 mph. Approved brands: Echo PB413T, Husqvarna 150BT or equal.	20	Each	\$263.49	\$5,269.80	ЕСНО РВ413Т	\$240.00	\$4,800.00	HUSQVARNA 150BT	\$309.99	\$6,199.80	ECHO PB500T	\$228.00	\$4,560.00	*REDMAX EBZ5100 2 YR WARRANTY	\$247.99	\$4,959.80	PB413T	\$239.96	\$4,799.20	Husquarna 350BT

The School Board of Miami-Dade County, Florida Bid #051-JJ06

BID PROPOSAL FORM [FORMAT B] Type or orier is talk but the PLEASE COMPLETE Lawn Equipment, Power ALL SHADED AREAS Bid #051-JJ06 Title: Lawn Equipment, Power Buyer: G. Jackson NAME OF BIDDER: Prepared By: Verified By: A-Ouality Mowers Inc. ACE LAWNMOWER SERVICE AL'S LAWNMOWER SALES & SERVICE ALEC'S CAMPER CENTER ALL DADE LAWNMOWER ALL DADE LAWNMOWER ESTIMATED UNIT Unit Price Total Price Unit Price Total Price Manuf & Model Manuf & Model Unit Price Total Price Manuf & Model Unit Price Total Price Manuf & Mode Unit Price Market & Model DESCRIPTION OF ITEM Items 8 through 12 will be awarded on a total low bid basis, items must be compatible and made by the same manufacturer. Vendor must bid all items. Multi-Task Power Head for heavy-duly professional applications, minimum 25.4 cc engine displacement. To be used with Each S NO BID NO BID REDMAX EX24015 NO BID STIHL \$239.00 attachments described in items #13 through #16. \$2,390.00 \$236.96 \$2,369.60 Echo \$248.00 \$2,480.00 2 YR WARRANTY KM90R Approved brands: Stihl KM55R, KM90R or equal. PAS265 Standard Trimmer Attachment compatible with item #12. Approved brands: Stihl FS 4137 227 10 Each S NO BID NO BID REDMAX EX-PC 2 0000 or equal. NO BID \$79.00 Stihl 4137-\$790.00 Echo 999-\$77.46 \$774.60 \$72.00 YR WARRANTY \$720.00 227-0000 4420540 Articulating Hedge Clipper Attachment compatible 10 with item #12. Approved brands: Stihl HL 4230 10 Each S NO BID REDMAX EX-LRT

NO BID

NO BID

NO BID

\$223.00

\$160.00

\$112.00

\$2,230.00

\$1,600.00

\$1,120.00

\$8,130.00

Echo 999

44200595

Stihl 4182-

200-0070

Stihl 4137-

740-5001

\$186.21

\$152.00

\$95.99

\$216.00

\$174.96

\$77.50

2 YR WARRANTY

REDMAX EX-PS

YR WARRANTY

REDMAX EX-HE 2

YR WARRANTY

\$2,160.00

\$1,749.60

\$775.00

\$7,828.80

Stihl 4230-

7405001

Echo 999-

44200532

Echo 999-

44200470

\$1,862.10

\$1,520.00

\$959.90

\$7,542.00

NO BID

NO BID

NO BID

740 5001 or equal.

equal.

Pruner Attachment compatible with item #12. 11 Approved brands: Stihl HT 4182 200 0035 or

Edger Attachment compatible with item #12. 12 Approved brands: Stihl FCB 4137 740 5001 or

TOTAL LOW

10

10

Each S

Each S

NO BID

NO BID

PLEASE COMPLETE
ALL SHADED AREAS
NAME OF BIDDER:
Prepared By:

Verified By:

۴					A-Quality Mow	ers, Inc.	1	ACE LAWNMOWE	R SERVICE	Y ALLE	LAWNMOWER SAL	50 1 050 100	7								
			1					1	JERVICE	ALS	LAWNMOWER SAL	LES & SERVICE		ALEC'S CAMPI	ER CENTER		LL DADE LAWNM	OWER	ALI	DADE LAWNMO	WER
7	M DESCRIPTION OF ITEM	ESTIMATED QUANTITY	TIMU	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Prica	Manuf & Model	Unit Price	Total Price	Manuf & M
1:	Zero turn mower, commercial, 36" cutting deck, minimum 17 HP engine power, heavy-duty construction; padded seat; true zero degree radius turning, electric Ignition; seal-actuated engine kill system; built-in parking brake on handles; solid front tires; floating deck; adjustable cutting height: 1.0 - 1.5 to 4.5 - 5.0 in 0.25" increments; transmission speed forward: 0-8 mph, reverse; 0-4 mph minimum; canlster-style air filter; must be able to cut on a 15 degree bank. Warranty: 2 year part and labor commercial warranty. Approved brands: Snapper Pro S50X model #S50XIKAV1936 or Hustler FastTrak Super Duty model #928192 or equal.		Each	s	NO BID		\$3,999.00	\$79,980.00	\$50X \$50XKAV 1936		NO BID		\$3,689.00	\$73,780.00	*ENCORE E341318F 2 YR WARRANTY	\$4,157.30	\$83,146.00	HUSTLER 928192 SUPERDUT Y FASTRAK 36"-17HP KAWASAK I COMMERC IAL		NO BID	
14	Mulching Kit: for 36* zero turn mower	20	Each	s	NO BID		\$57.50	\$1,150.00	5600191		NO BID		\$139.00	\$2,780.00	ENCORE 341004	\$61.10	\$1,222.00	HUSTLER 338442		NO BID	
15	Zero turn mower, commercial, 48" cutting deck, minimum 23 HP engine power; heavy-duty construction; padded seaf; true zero degree radius turning; electric ignition; seal-actuated engine kill system; built-in parking brake on handles; solid front lires; floating deck; adjustable cutting height: 1.0 - 1.5 to 4.5 - 5.0 in 0.25" increments; transmission speed forward: 0-8 mph, reverse; 0-4 mph minimum; canister-style air filter; must be able to cut on a 15 degree bank. Warranty: 2 year part and labor commercial warranty. Approved brands: Snapper Pro S50X model #S50XB2648 or Hustler FastTrak Super Duty model #928374 or equal.	20	Each S		NO BID		\$3,900.00	\$78,000.00	SNAPPER S50X S50XB2648	\$3,499.00	\$69,980.00	*TORO Z503074373	\$4,425.00	\$88,500.00	CUB CADET COMMERCIAL ENFORCER 54" 2 YR WARRANTY	\$4,829.30	\$96,586.00	HUSTLER 928374		NO BID	
;	Mulching Kit: for 48" zero turn mower	20	Each S		NOBID		\$70.00	\$1,400.00	5600014	\$169.99	\$3,399.80	TORO 79312	\$139.00	\$2,780.00	CUP CADET COMMERCIAL 59A30010	\$117.75	\$2,355.00	HUSTLER		NO BID	

BID PROPOSAL FORM (FORMAT 8)
There you'd also begin as a day and a day

		<del>}</del>	┰	306,1	C D/Ws AMERICA	N EUPT RENTAL	─	BEST EQUIPME	NT & REPAIR		DEGENS LAWN	& TURF		GREEN THUMB LA	WN & GARDEN	,	IOMESTEAD MOW	ER CENTER
ITE).	The state of the s	ESTIMATE QUANTITY		T Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unii Price	Yotal Prica	Manuf & Model	Unit Price		
	VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE YEAR															1		
1	Edger, Power, walk-behind, minimum engine power: 3.5 HP, sleel base, approximately 10" X 2" X 1/2" blade or 9" triple blade (3 lips), ball bearing wheels, controls on the handle (adjustment of depth), blade guard. Approved brands: Power Trim 200, Husqvarna LE 389 or equal.	25	Each	1	NO BID		\$390.50	\$9,762.50	POWER TRIM PT150	\$360.00	\$9,000.00	HUSQVARNA LE389	\$415.96	\$10,399.00	HUSQVARNA LE389		NO BID	
2	Hedge Trimmer, approximately 30" single-sided cutting blade, gas engine, minimum engine power. 1.1 HP, minimum displacement: 22.5 cc, electronic ignition, centrifugal clutch. Approved brands: Shindawa HT231-30, Husqvarna 226HS75S or equal.	25	Each	\$394.96	\$9,874.00	STIHL HS86T	\$374.96	\$9,374.00	STIHL HS81T-30	\$350.00	\$8,750.00	HUSQVARNA 226HS75S	\$359.96	\$8,999.00	HUSQVARNA 226HS75S	\$394.96	\$9,874.00	STIHL HS
3	Blower, Leaf, hand-held, gasoline engine, electronic Ignition, minimum engine displacement: 25.4 cc, minimum air speed: 145 miles per hour, minimum average air volume: 340 cfm. Approved brands: Echo PB251 or equal.	50	Each	\$189.56	\$9,478.00	STIHL BG86	<b>\$</b> 179.96	\$8,998.00	STIHL BG86	\$165,00	\$8,250.00	HUSQVARNA1	\$135.99	\$6,799.50	ECHO PB251	\$118.46	\$5,923.00	*STIHL B
	Trimmer, monofilament, loop handle, gasoline engine, minimum engine displacement: 25.4 cc, maximum overall length; 75", minimum fuel capacity: 13.5 cz., maximum weight: 12.5 lbs., straight shaft. Approved brands: Stihl FS80R, or equal.	50	Each	\$252.76	\$12,638.00	STIHL FS80R	\$239.90	\$11,995.00	STIHL FS80R	\$215.00	\$10,750.00	HUSQVARNA 128L	\$252.76	\$12,638.00	STIHL FS80R	\$276.46	\$13,823.00	STIHL FSS
	Mower, riding, cutting width: 30°, minimum engine power: 12.5 HP, electric starling, overhead valve, transmission: 5 forward -1 reverse speeds, all steel mower deck, minimum of five (5) cutting height positions, cutting height approximately 1 1/2° to 4°, pneumatic tires front and rear, 12 volt battery, equipped with mulching kit. Approved brands: Snapper 3012523BVE equipped with Ninja® Mulching Kit or equal.	50	Each		NO BID		\$1,405.00	\$70,250.00	SNAPPER 3012523BVE	\$1,525.00	\$76,250.00	SNAPPER 3012523BVE	\$1,632.60	\$81,630.00	SNAPPER 3012523BVE euipped w/ninja mulching kit	,	NO BID	
8	Mower, power, non-self propelled, minimum 5 HP engline, push drive, oversized rear wheels approximately 16" with ball-bearings, front wheels approximately 8" diameter with ball bearings, cutting swath 21" minimum, mulching kit included. Approved brands: Sarlo L621-2 with mulching kit #1387 (not mounted) or equal.	10	Each		NO BID		\$280.00	\$2,800.00	*SNAPPER SPV22675HW	\$325.00	\$3,250.00	*SNAPPER 7800189	\$651.62	\$6,516.20	SARLO L621-2 w/mulching kit #1387	į	NO BID	
n V	Blower, back pack, minimum displacement 44 cc, minimum air volume: 380 cfm, minimum air velocity 172 mph. Approved brands: Echo PB413T, Husqvarna 150BT or equal.	20	Each	\$260.66	\$5,213.20	STIHL BR380	\$260.66	\$5,213.20	STIHL BR380	\$255.00	\$5,100.00	HUSQVARNA I50BT	\$247.99	\$4,959.80	ECHO PB413T	\$260.66	\$5,213.20	STIHL BR3

BID PROPOSAL FORM (FORMAT B)

Distribution and application of the control of the

		<del></del>	<del></del>	300,00	Dib/a AMERICAN	EQPT RENTAL	J	BEST EQUIPMEN	IT & REPAIR		DEGENS LAWN &	TURF	T	GREEN THUMB LA	WM & CADDON	7		
(EM	DESCRIPTION OF ITEM	ESTMATES QUANTITY	UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mod
wa.	items 8 through 12 will be awarded on a total low bid basis. Items must be compatible and made by the same manufacturer. Vendor must bid all items.		-															
	Multi-Task Power Head for heavy-duty professional applications, minimum 25.4 cc engine displacement. To be used with attachments described in items #13 through #16. Approved brands: Stihl KM55R, KM90R or equal.	10	Each	\$150.06	\$1,500,60	STIHL KM55R	\$150.00	\$1,500.00	STIHL KM55R		NO BID		\$236.96	\$2,369.60	STIHL KM90R	\$150.06	\$1,500.60	STIHL KM55
9	Standard Trimmer Attachment compatible with item #12. Approved brands: Stihl FS 4137 227 0000 or equal.	10	Each	\$74.95	\$749.50	STIHL 4137 227-0000	\$77.58	\$775.80	STIHL 4137-227- 0000		NO BID		\$67.46	\$674.60	STIHL FS 4137 227 0000	\$63,16	\$631.60	STIHL KMF 4137 227 000
οĮ	Articulating Hedge Clipper Attachment compatible with item #12. Approved brands: Stihl HL 4230 740 5001 or equal.	10	Each	\$195.78	\$1,957.80	STIHL 4230 740-5001	\$206.09	\$2,060.90	STIHL		NO BID		\$176.21	\$1,762.10	STIHL HL 4230 740 5001	\$126.36	\$1,263.60	STIHL KMH 4230 740 500
1	Pruner Atlachment compatible with item #12. Approved brands: Stihi HT 4182 200 0035 or equal.	10	Each	\$183.28	\$1,832.80	STIHL 4182 200-0070	\$189.70	\$1,897.00	STIHL 4182-200- 0000		NO BID		\$164.96	\$1,649.60	STIHL HT 4182 200 0035	\$173.76	\$1,737.60	STIHL KMH 4182 200 003
2	Edger Attachment compatible with item #12. Approved brands: Stihl FCB 4137 740 5001 or equal.	10	Each	\$74.95	\$749.50	STIHL 4137 740-5001	\$77.58	.\$775.80	STIHL 4137-740- 5001		NO BID		\$67.46	\$674.60	STIHL FCB 4137 740 5001	\$63.16	\$631,60	STIHL KMF0 4137 740 500
	TOTAL LOW				\$6,790.20			\$7,009.50						\$7,130.50			\$5,765.00	

BID PROPOSAL FORM (FORMAT B)
Type in (Finite has be), incompensate that Materia
Bid #051-JU06
Tille: Lawn Equipment, Power
Buyer: G. Jackson

-	Buyer; G. Jackson	1																
F		<b>,</b>		3DG, LLC	D/b/a AMERICAN	EGPT RENTAL	-	BEST EQUIPMEN	T & REPAIR	1	DEGENS LAWN &	TURF		GREEN THUMB LA	WAY & GARDEN	Υ		
ITE	DESCRIPTION OF ITEM	ESTMATE( QUANTITY	DUNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model
1:	Zero turn mower, commercial, 36" cutting deck, minimum 17 HP engine power; heavy-duty construction; padded, sast; fruz zero degree radius turning; electric lightion; seal-actuated engine kill system; built-in parking brake on handles; solid front lires; floating deck; adjustable cutting height:	. 20	Each		NO BID		\$3,910.00	\$78,200.00	SNAPPER S50XKAW936	\$4,300.00	\$86,000.00	ENCORE E34K18BS	\$4,899.99	\$97,999.80	SCAG SFZ36-17K/	\$4,499.00	\$89,980.00	HUSTLER FASTRAL SUPER DUTY 36" 928192
14	Mulching Kit: for 36" zero lurn mower	20	Each		NO BID		\$72.29	\$1,445.80		\$160.00	\$3,200.00	341004	\$58.33	\$1,166.60	SCAG S9206	\$66.75	\$1,335.00	HUSTLER 107654
	Zero turn mower, commercial, 48" cutting deck, minimum 23 HP engine power; heavy-duty construction; padded seat; true zero degree radius turning; electric ignition; seat-actuated engine kill system; built-in parking brake on handles; solid front lires; floating deck; adjustable cutting height: 1.0 - 1.5 to 4.5 - 5.0 in 0.25" increments; transmission speed forward: 0-8 mph, reverse: 0-4 mph minimum; canister-style air filter; must be able to cut on a 15 degree bank. Warranty: 2 year part and labor commercial warranty. Approved brands: Snapper Pro S50X model #S50XB2648 or Hustler FastTrak Super Duty model #928374 or equal.	20	Each		NO BID		\$4,100.00	\$82,000.00	SNAPPER S50XB2648B	\$5,200.00	\$104,000.00	ENCORE E48K19F	\$5,179.99	\$103,599.80	SCAG SFZ48-26BS	\$5,380.00	\$107,600.00	HUSTLER FASTTRAK SUPER DUTY 48" 928374
16	Mulching Kit: for 48" zero turn mower	20 .	Each		NO BID		\$89.95	\$1,799.00		\$260.00	\$5,200.00	481018	\$62.50	\$1,250.00	SCAG S9298	\$95.76	\$1,915.20	HUSTLER 108223

BID PROPOSAL FORM (FORMAT B)

SPET PORT WAS EXAMPLE

BIR BOST - JOS

THE LAWN Equipment, Power

Burrer G, Jackson

ſ			1-		ERTZ EQUIPMEN	T RENTAL		OE BLAIR GARDE	SUPPLY	-	MSC		PRIN	CE LAWNMOWER	SALES & SERVICE	RICHARDS TRACTO	RS & IMPLEMENTS		γ .	TOOLS FOR	A TIME
JT.	EM DESCRIPTION OF ITEM	ESTIMATE QUANTITY		Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mod
	VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE YEAR																				
	Edger, Power, walk-behind, minimum engine power: 3.5 HP, steel base, approximately 10" X 2" X 12" blade or 9" triple blade (3 tips), ball bearing wheels, controls on the handle (adjustment of depth), blade guard. Approved brands: Power Trim 200, Husqvarna LE 389 or equal.	25	Each	\$569.00	\$14,225.00	LE475	\$422.00	\$10,550.00	POWER TRIM		NO BID		\$315.00	\$7,875.00	REDHAWK EDGER E40	\$423.00	\$10,575.00	HUSOVARNA LE475	\$399.95	\$9,998.75	MCLANE 28R
2	Hedge Trimmer, approximately 30" single-sided cutting blade, gas engine, minimum engine power. 1.1 HP, minimum displacement: 22.5 cc, electronic ignlition, centrifugal clutch. Approved brands: Shindaiwa HT231-30, Husqvarna 226H5755 or equal.	25	Each	\$381.00	\$9,525.00	HUSQVARNA 226HS75S	\$332.00	\$8,300,00	SHINDAIWA HT231-30		NO BID		\$315.00	\$7,875.00	KAWASAKI KHS750B	\$367.00	\$9,175.00	HUSQVARNA 226H575S	\$343.99	\$8,599.75	SHINDAIWA HT231-30
3	Blower, Leaf, hand-held, gasoline engine, electronic ignition, minimum engine displacement: 25.4 cc, minimum air speed: 145 miles per hour, minimum average air volume: 340 cfm. Approved brands: Echo PB251 or equal.	50	Each	\$135.99	\$6,799.50	ECHO PB251	<b>\$</b> 135.97	\$6,798.50	ECHO PB251		NO BID		\$175.00	\$8,750.00	KAWASAKI KRH300A		NO BID		\$231.99	\$11,599.50	SHINDAIWA EB3410
4	Trimmer, monofilament, loop handle, gasoline engine, minimum engine displacement: 25.4 cc, maximum overall length; 75°, minimum fuel capacity: 13.5 oz., maximum weight: 12.5 lbs., straight shaft. Approved brands: Sühl FS80R, or lequal.	50	Each	\$254.00	\$12,700.00	STIHL FS90R	\$252.76	\$12,638.00	STIHL FS80R		NO BID		\$230.00	\$11,500,00	KAWASAKI KTF27A		NO BID		\$327.99	\$16,399.50	SHINDAIWA T282
5	Mower, riding, cutling width: 30", minimum engine power: 12.5 HP, electric starting, overhead valve, transmission: 5 forward -1 reverses speeds, all steel mower deck, minimum of five (5) cutting height positions, cutting height approximately 1 1/2" to 4", pneumatic tires front and rear, 12 volt battery, equipped with mulching kit. Approved brends: Snapper 3012523BVE equipped with Minja® Mulching kit or equal.	50	Each	\$1,533.00	\$76,650.00	SNAPPER 3012523BVE	\$1,490.00	\$74,500.00	SNAPPER 3012523BVE		NO BIO		\$2,935.00	<b>\$</b> 146,750.00	968999702 DIXON SPEEDZTR 30*		NO BID		\$1,899.99	\$94,999.50	SNAPPER 3012523BVE
6	Mower, power, non-self propelled, minimum 5 HP engine, push drive, oversized rear wheels approximately 16" with ball-bearings, front wheels approximately 8" diameter with ball bearings, cutting swath 21" minimum, mulching kit included. Approved brands: Sarlo L621-2 with mulching kit #1387 (not mounted) or equal.	10	Each	\$504.95	\$5,049.50		\$495.00	\$4,950.00	SARLO 1.621-2	\$562.88	\$5,628.80	L621-2	\$365.00	\$3,650.00	228675BP REDHAWK EQUIPMENT 22* CUT		NO BID		\$499,99	\$4,999.90	SARLO 1621-2
7	Blower, back pack, minimum displacement 44 cc, minimum air volume: 380 cfm, minimum air velocily 172 mph. Approved brands: Echo PB413T, Husqvarna 150BT or equal.	20	Each	\$258.00	\$5,160.00	HUSQVARNA 3508T	\$265.00	\$5,300.00	ECHO PB413T		NO BID		\$325.00	\$6,500.00	KAWASAKI KRB650B	\$246,00	\$4,920.00	HUSQVARNA 3508T	\$391.99	\$7,839.80	SHINDAIWA E88510RT

BID PROPOSAL FORM (FORMAT B)
There with a boar incoopies insist of bidges
Bid 9005-1-010
Title: Lawn Equipment, Power
Buyer, G. Jackson

-		1	7	1	ERTZ EQUIPMENT	T.O.C. T.A.	7			·		1000									
		<del></del>	-	H	IERTZ EQUIPMENT	I RENTAL	<del></del>	OE BLAIR GARDEN	SUPPLY		MSC		PRIN	CE LAWNMOWER	SALES & SERVICE	RICHARDS TRACTOR	S & IMPLEMENTS		7	TOOLS FOR A	Y11.05
E	M DESCRIPTION OF ITEM	ESTIMATE: QUANTITY		. Ună Prica	Total Price	Manuf & Model	. Unit Price	Total Price	Manuf & Model	Unit Price	Total Pric≘	Manuf & Model	Unit Price	Total Prica	Manuf & Model	Unit Price	Total Price	Manuf & Model	Und Price	Total Price	Manuf & Mo
	Items 8 through 12 will be awarded on a total low bid hasis. Items must be compatible and made by the same manufacturer. Vendor must bid all items.																				
	Multi-Task Power Head for heavy-duty professional applications, minimum 25.4 cc engine displacement. To be used with attachments described in items #13 through #16. Approved brands: Stihl KM55R, KM90R or equal.	LO	Each	\$269.73	\$2,697.30	STIHL KM110R	\$150.06	\$1,500.60	STIHL KM55R		NO BID		\$245.00	\$2,450.00	REDMAX EX22401S		NO BID		\$279.99	\$2,799.90	SHINDAIV M2510
	Standard Trimmer Attachment compatible with item #12. Approved brands: Stihl FS 4137 227 0000 or equal.	10	Each	\$40.85	\$408.50	STIHL PS 4137 740 5005	\$72.00	\$720.00	STIHL 4137 227 0000		NO BID		\$77.49	\$774.90	REDMAX EX-BC2		NO BID		\$79.99	\$799.90	SHINDAIV 65001
	Articulating Hedge Clipper Attachment compatible with item #12, Approved brands: Slihl HL 4230 740 5001 or equal.	10	Each	\$174.85	\$1,748.50	STIHL 4230 740 5001	\$186.00	\$1,860.00	STIHL 4230 740 5001		NO BID		\$229,99	\$2,299.90	REDMAX EX-LRT		NO BID		\$199.99	\$1,999.90	SHINDAIV 65003
	Pruner Atlachment compatible with item #12. Approved brands: Stihl HT 4182 200 0035 or equal.	10	Each	\$159.95	\$1,599.50	STIHL 4182 200 0070	\$179.00	\$1,790.00	STIHL 4182 200 0070		NO BID		\$185,49	\$1,854.90	REDMAX EX-PS		NO BID		\$172.79	\$1,727,90	SHINDAIW 65002
	Edger Attachment compelible with item #12. Approved brands: Stihl FCB 4137 740 5001 or equal.	10	Each	<b>\$</b> 73.13	\$731.30	STIHL FCB 4137 740 5001	\$75.00	\$750.00	STIHL 4137 740 5001		NO BID		\$124.99	\$1,249.90	REDMAX EX-HE		NO BID		\$107.19	\$1,071.90	SHINDAIV 65010
	TOTAL LOW				\$7,185.10			\$6,620.60						\$8,629.60						\$8,399.50	

BIO PROPOSAL FORM (FORMAT B)
There find bits has has
strongles near the bits.
Biol 9051-1006
Title: Lewn Equipment, Power

-				)	IERTZ EQUIPMENT	RENTAL		OE BLAIR GARDEN	SUPPLY		MSC		POIN	CF I AWNHOWED	SALES & SERVICE	J DICHARDS TO			· ·		
						,	1	T			Ī		180	- CAMINGOWER	SALEO & SERVICE	RICHARDS TRACTOR	IS & IMPLEMENTS	T	<del> </del>	TOOLS FOR	A TIME
re	EM DESCRIPTION OF ITEM	EST#MATE QUANTITY	D UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unil Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode
-	Zero lurn mower, commercial, 36° cutting deck, minimum 17 HP engine power, heavy-duty construction, paddad-saul_trus_zen_dagnae_radius turning; electric ignition; seat-actuated engine kill system; built-in parking brake on handles; sollid front tires; floating deck; adjustable cutting height:																				
13	3 1.0 - 1.5 to 4.5 - 5.0 in 0.25" increments; transmission speed forward: 0.8 mph, reverse: 0.4 mph minimum; canister-style air filter; must be able to cut on a 15 degree bank. Warranty: 2 year part and labor commercial warranty. Approved brands: Snapper Pro S50X model #S50XKAV1936 or Hustler FastTrak Super Duty model #928192 or equal.	ì	Each	\$4,463.00	\$89,260.00	HUSTLER 928192	\$3,795.00	\$75,900.00	HUSTLER 928192		OI8 ON		\$3,895.00	\$77,900.00	BOBCAT FASTCAT PRO 942291F		NO BID		\$5,327.99	\$106,559.80	EXMARK PHZ19KA343 YR WARRAN
4	Mulching Kit: for 36" zero turn mower	20	Each	\$135.00	\$2,700.00	KIT 36*	\$95.00	\$1,900.00	\$107,854.00		NO BID		\$119,99	\$2,399.80	MULCH KIT/BOB CAT 970225		NO BID		\$159.99	\$3,199.80	EXMARK MK343
	Zero turn mower, commercial, 48" cutting deck, mlnimum 23 HP engine power, heavy-duty construction; padded seal; true zero degree radius turning; electric ignition; seal-actuated engine kill system; built-in parking brake on handles; solid front tires; floating deck; adjustable cutting height: 1.0 - 1.5 to 4.5 - 5.0 in 0.25" increments; transmission speed forward: 0.8 mph, reverse; 0.4 mph minimum; canister-style air filter; must be able to cut on a 15 degree bank. Warranty: 2 year part and labor commercial warranty. Approved brands: Snapper Pro SSOX model #SSOXB2648 or Hustler FastTrak Super Duty model #928374 or equal.	20	Each	\$5,293.00	\$105,860.00	HUSTLER 928374	\$3,995.00	\$79,900.00	HUSTLER 928374		NO BID		\$4,150.00	\$83,000.00	BOBCAT FASTCAT PRO 942295F		NO BID		\$7,519.99	\$150,399.80	EXMARK LZZZ3KC486 3 YR WARRANT
)	Mulching Kit: for 48* zero turn mower	20	Each	\$137,95	\$2,759.00	48° KIT	\$135.00	\$2,700.00	108223		NO BID		\$174.99	\$3,499.80	BOBCAT/MULCH KIT 970226		NO BID		\$199.99	\$3,999.80	EXMARK MK486

\*NOTES: Item 3 - All Dade Lawnmower and Homestead Mower Center: Stihl BG55 does not comply because air speed is 130 mph and a minimum of 145 mph is required. Alec's Camper Center - Redmax HB250 does not comply because air speed is 127 mph and a minimim of 145 is required. Item 5 - Alec's Camper Center: Troybuilt LT Pony does not comply because vendor submitted a 42" riding mower and the specifications required a 30" riding mower, mower is to large. Item 6 - Best Equipment and Repair: Snapper SPV22675HW does not comply because rear wheel size is 12" and specifications require 16". Degen's Lawn and Turf: Snapper 7800189 does not comply because rear wheel size is 8" and specifications require 16". Item 7 - Alec's Camper Center: Redmax EBZ5100 does not comply because the maximum air speed is 171 mph and the specifications require a minimum air speed of 172 mph. Item 13 - Alec's Camper Center: Encore E341318F does not comply because the mower size is 50" and the specifications require a 48".

1 1